O
Up to
15kg

55000000000000600 o5 JO©

|

50000000000000000 o0

SOUNDBAR BRACKET

1]
n
=
1]
2]
w

EZYmount

(7))
o
o
—
O
-
-
wied
(7))
=
>
o)
S
)
(/)]
(7))
<

=}
z @
£ §
o o
© ¢E
© 2.mu
N = o 5 9
pd +— O o ¢ E
2 o 8
1 =5 S o0
N Py S B3
TES © g3
"w ST »n =
Jd ©o =
oG O
4 233> § 2
as< ¢ _®
s § ® <2
o § £ 2
Sow & o=

g g
B et
1

g gy

M

in a responsible manner - recycle
cardboard/plastic wherever possible.

EZYmount
Please dispose of this packaging




() ¢ ¢ oy ¢
M-A (x4) M-B (x4) M-C (x4) M-D (x4)
M5x16 M6x16 M5x25 M6x25
¢ @mmjjﬁjjjm @mm\mmnmmm\mmmm
M-E (x4) M-F (x4) M-G (x4)
M6x40 M8x40 M8x60
0) 0 )
M-H (x4) M-I (x8) M-J (x8)
D5
o e

Note: When top mounting the soundbar, make sure there is ample room between
the bracket and the TV as shown

>5mm
H H !

t

i Note: Measure the speaker height before
1 installation. Make sure there is ample room |
! for the speaker. >

____________________________________

M-l @ T
ws 888
o




	页 1
	页 2

